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1A15H(+X) 13K%4 13:00~17:00 AUEREE BFRZEBEYSATLWRLZXZE 1HEB
2A19H(X£) 9IKES :00~12:00 ZHEKRETE BIHZEBYSABFTWRFLZXZE 2HH
3A19H(X) 13K&& 13:00~17:00 BUEREE toOrviR—r%2#2/kE 1HE
4823HB(+) 138&%ESE 13:00~17:00 SHEXREE FOYR—r%2#27E 20E
5A21H() 13K&%4& 13:00~16:30 THEKRETE FILvEEXTKEDRNLRE BEREE 1HE
6A18H(+) 13F&4S 13:00~16:30 THUEKEE FILVEEXIKBEORFLZXZE 2HE
9A810H() 13K&&E& 13:00~17:00 ZUHEKREE ATYvyY&Y—YXZE 1HH
10B15H(L) 9K&ES 9:00~12:00 ZUEBEREE BATY+vV&Y—YXZL 2HE
11A19H(L) 9K&E 9:00~12:00 BIEBEKETE 1HH
12A3H(E) 9KES 9:00~12:00 BHAEREE 2HE




